CITY OF	YONK	ERS / YONKERS PUBLIC				One Larkin Center, 3rd					
BUREAU OF PURCHASING							Yonkers, NY				
									(914) 377-6030		
										11/2// 0020	
BID DATE	March 5,	2021	*****Vendor # 1*****		*****Vendor # 2*****		******Vendor # 3*****		*****Vendor # 4*****		
			Benchmark Construction		Northeastern Interior Services		Mt. Olympus Restoration		SMAC Corp		
TITLE: Interior Renovations at Riverside High		20 Broad Hollow Road 5		5 Fairfield Ave		3910 Bayberry Lane		439 North Midland Ave			
	School - 5 Contracts		Melville NY 11747		Little Falls, NJ 07424		Seaford, NY 11783		Saddle Brook, NJ 07663		
Buyer:	D. Censi		Certified M/WBE: No		Certified M/WBE: No		Certified M/WBE: No		Certified M/WBE: No		
Bids Rec'd.:	15		Woman/Minority Owned: Yes		Woman/Minority Owned: No		Woman/Minority Owned: No		Woman/Minority Owned: No		
GENERAL	CONSTR	RUCTION BUILDING - Contract 1									
ITEM	QTY.	***ITEM DESCRIPTION***	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	
1	1	Lump Sum: Base Bid Price to complete GC Building Work as described	\$939,000.00	\$939,000.00	\$1,020,000.00	\$1,020,000.00	\$1,273,000.00	\$1,273,000.00	\$1,344,477.00	\$1,344,477.00	
2	50	Unit Bid Price GC-1: Replace balances for on window. The base bid includes replacing balances in 50 windows beyond those indicated.	\$200.00	\$10,000.00	\$320.00	\$16,000.00	\$145.00	\$7,250.00	\$170.00	\$8,500.00	
3	50	Unit Bid Price GC-2: Replace window glazing for (1) window. The base bid includes replacing balances in 50 windows beyond those indicated.	\$850.00	\$42,500.00	\$448.00	\$22,400.00	\$65.00	\$3,250.00	\$560.00	\$28,000.00	
4	100	Unit Bid Price GC-3: Replace window glazing for (1) window. The base bid includes replacing blances in 50 windows beyond those indicated.	\$25.00	\$2,500.00	\$153.00	\$15,300.00	\$60.00	\$6,000.00	\$15.00	\$1,500.00	
5	1	Necessary Miscellaneous Work as needed.	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	
				\$1,029,000.00		\$1,108,700.00		\$1,324,500.00		\$1,417,477.00	

CITY OF YONKERS / YONKERS PUBLIC					С			One Larkin Center, 3rd Floor			
BUREAU OF PURCHASING							Yonkers, NY 10701				
								(914)) 377-6030		
BID DATE	March 5	, 2021	*****Vendor	# 5*****	*****Vendor	r # 6*****	*****Vendor	•# 7 *****	*****Vend	lor # 8*****	
BID NO. IFB-6583					Grace Contracting		Piazza Inc.		Streamline Remodeling		
TITLE:	Interior	Renovations at Riverside High					3 W Stevens Ave		2584 Pitkin Avenue		
	School - 5 Contracts		Passaic NJ 07055		West Havestraw, NY 10993		Hawthorne, NY 10532		Brooklyn, NY 11208		
Buyer:	D. Cens	i	Certified M/WBE: No		Certified M/WBE: No		Certified M/WBE: No		Certified M/WBE: No		
Bids Rec'd.:	:15		Woman/Minority Owned: No		Woman/Minority Owned: No		Woman/Minority Owned: No		Woman/Minority Owned: No		
GENERAL	CONST	RUCTION BUILDING - Contract 1									
ITEM	QTY.	***ITEM DESCRIPTION***	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	
	x										
1	1	Lump Sum: Base Bid Price to complete GC Building Work as described	\$1,375,000.00	\$1,375,000.00	\$1,522,000.00	\$1,522,000.00	\$1,462,000.00	\$1,462,000.00	\$5,000.00	\$1,426,955.00	
2	50	Unit Bid Price GC-1: Replace balances for on window. The base bid includes replacing balances in 50 windows beyond those indicated.	\$250.00	\$12,500.00	\$250.00	\$12,500.00	\$500.00	\$25,000.00	\$950.00	\$47,500.00	
3	50	Unit Bid Price GC-2: Replace window glazing for (1) window. The base bid includes replacing balances in 50 windows beyond those indicated.	\$300.00	\$15,000.00	\$1,000.00	\$50,000.00	\$700.00	\$35,000.00	\$1,200.00	\$60,000.00	
4	100	Unit Bid Price GC-3: Replace window glazing for (1) window. The base bid includes replacing blances in 50 windows beyond those indicated.	\$10.00	\$1,000.00	\$100.00	\$10,000.00	\$300.00	\$30,000.00	\$500.00	\$50,000.00	
5	1	Necessary Miscellaneous Work as needed.	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	
				\$1,438,500.00		\$1,629,500.00		\$1,587,000.00		\$1,619,455.00	

CITY OF	YONK	ERS / YONKERS PUBLIC				One Larkin C	enter, 3rd Flo	or	
BUREAU	OF PU	JRCHASING							
						Yonkers, NY 10701 (914) 377-6030			
						()11)0			
BID DATE	March 5, 2021		*****Vendor	# 9 *****	****Vendor #	10****	****Vendor #	11****	
			ZN Construction H		Patriot Organization		Stalco Construction		
TITLE:	Interior Renovations at Riverside High		185 East 54 Street		30 Floyds Run		1316 Motor Parkway		
	School - 5 Contracts		Elmwood, NJ 07407		Bohemia, NY 11716		Islandia, NY 11749		
Buyer: D. Censi		Certified M/WBE: No		Certified M/WBE: No		Certified M/WBE: No			
Bids Rec'd.:	15		Woman/Minority	Owned: No	Woman/Minority	y Owned: No	Woman/Minority	Owned: No	
GENERAL	CONST	RUCTION BUILDING - Contract 1							
			UNIT		UNIT	TOTAL	UNIT		
ITEM	QTY.	***ITEM DESCRIPTION***	PRICE	TOTAL COST	PRICE	COST	PRICE	TOTAL COST	
	~								
1	1	Lump Sum: Base Bid Price to complete GC Building Work as described	\$1,555,250.00	\$1,555,250.00	\$1,659,000.00	\$1,659,000.00	\$1,624,000.00	\$1,624,000.00	
2	50	Unit Bid Price GC-1: Replace balances for on window. The base bid includes replacing balances in 50 windows beyond those indicated.	\$400.00	\$20,000.00	\$460.00	\$23,000.00	\$138.60	\$6,930.00	
3	50	Unit Bid Price GC-2: Replace window glazing for (1) window. The base bid includes replacing balances in 50 windows beyond those indicated.	\$385.00	\$19,250.00	\$575.00	\$28,750.00	\$646.80	\$32,340.00	
4	100	Unit Bid Price GC-3: Replace window glazing for (1) window. The base bid includes replacing blances in 50 windows beyond those indicated.	\$175.00	\$17,500.00	\$575.00	\$57,500.00	\$100.00	\$10,000.00	
5	1	Necessary Miscellaneous Work as needed.	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	
				\$1,647,000.00		\$1,803,250.00		\$1,708,270.00	

CITY OF	YONK	ERS / YONKERS PUBLIC								
BUREAU	OF PU	IRCHASING								
BID DATE	March 5	5 2021	****Vendor # 1	17***	****Vendor #	12***	****Vendor #	1/****	****Vendo	r # 15****
	IFB-6583				Bertussi Contracting		Pierotti Corp		Final Touch Deveolpment	
	Interior Renovations at Riverside High						84 Calvert St		553 Ashford Ave	
	School - 5 Contracts				Pearl River, NY		Harrison, NY 10528		Ardsley NY	
Buyer:	D. Cens		,		Certified M/WBE: No		Certified M/WBE: No		Certified M/WBE:	
Bids Rec'd.:					Woman/Minority Owned: No		Woman/Minority Owned: No		Woman/Minority Owned:	
		RUCTION BUILDING - Contract 1	woman winnonty owned. No						windu.	
ITEM			UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST
1	1	Lump Sum: Base Bid Price to complete GC Building Work as described	\$1,748,000.00	\$1,748,000.00	\$1,995,746.00	\$1,995,746.00	\$2,011,000.00	\$2,011,000.00		
2	50	Unit Bid Price GC-1: Replace balances for on window. The base bid includes replacing balances in 50 windows beyond those indicated.	\$500.00	\$25,000.00	\$300.00	\$15,000.00	\$150.00	\$7,500.00		
3	50	Unit Bid Price GC-2: Replace window glazing for (1) window. The base bid includes replacing balances in 50 windows beyond those indicated.	\$1,500.00	\$75,000.00	\$700.00	\$35,000.00	\$800.00	\$40,000.00		
4	100	Unit Bid Price GC-3: Replace window glazing for (1) window. The base bid includes replacing blances in 50 windows beyond those indicated.	\$20.00	\$2,000.00	\$70.00	\$7,000.00	\$30.00	\$3,000.00		
5	1	Necessary Miscellaneous Work as needed.	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00		
				\$1,885,000.00		\$2,087,746.00		\$2,096,500.00	* BSP/docume	ents not submitted